TIZU Assembly Guide

AMQ



Components

TIZU ships in boxes of two,
so all components are x2.

e G

Legs Backrests

Box A: Seat rest/Arm Box B: Castors

M8X35  M6X20  M6X30 Q

Box C: Hardware Bag: Seat Cover

Tizu Assembly Guide | 2

Tools Required

Allen Keys: 4mm and 6mm

Phillips Head Screw Driver
Rubber Mallett

amqsomtions.com @



Installation

Note: You may choose to start with installing the seat cover - instructions on last page.

Step 1

Insert the castors into bottom of each leg.

Step 2

Attach the backrest to the top of leg frame.
Gently tap arms into place with mallett.

Step 3
1. Using the M6X20 bolts, attach the
armrest to the backrest.

2. Using the M8X35 bolts, attach the
armrest into the leg assembly.

Tizu Assembly Guide | 3

Step 4

Insert bushing into seat bracket, and the
seat bracket into cantilever.

amqsomtions.com @



Installation

Step 5 Step 6

Tighten seat with M6X30 bolts. Slide in lumbar support piece.

Tizu Assembly Guide | 4 amgsolutions.com @



Installing Removable Seat Covers

Step 1
Place seat cover over the seat cushion
and seat cover lining that is already in place.

Step 2

Locate the zipper pull and pull around the seat
until it meets the other end of the zipper.

Step 3 : -
Once fully zipped, cover is in place. ; J ; l,
\"*)] =]

Push seat down and chair is ready to

use. _
A ’f 4
/. 4 7\}

amqsomtions.com @

Tizu Assembly Guide | 5



